1TRK
Moo 1 o

1 R DI0E N

LRAOIETIZ R ULFOE . BEOEY £ LD TEHET 5,

(0.2x+0.4) + (0.5x+0.1) (=0.4x+03) + (0.5x—0.2)
=0.2x+04+05x+0.1 = —04x+0.3+05x—0.2
=02x+05x+04+0.1 = —04x+05x+03-0.2
=0.7x+05 =0.1x+0.1

\_ J
KOSRE L 20,
@O (0.3x+0.2) + (0.4x+0.7) @ (06x+05)+ (0.2x—0.3)
® (0.8x—0.6) + (0.4x+0.2) @ (0.7x+0.9) + (0.5x—0.2)
® (0.3x+0.5) + (—0.2x—0.7) ® (0.6x—0.8)+ (—0.2x+0.4)
@ (—05x+0.1)+ (0.8x—0.7) (—0.6x—03)+(—-0.4x—-05)
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Vo xstomz
1 RA DX \

I1RAXOMETIH.FELLFOE BOHEZ LD TEIHET 5,

(0.2x+0.4) + (0.5x+0.1) (~04x+0.3) + (05x—0.2)
=02x+04+05x+0.1 = —0.4x+0.3+05x—0.2
=02x+05x+04+0.1 = —0.4x+05x+0.3-0.2
=0.7x+0.5 =0.1x+0.1

\_ J
KOFHE L% S0,

@O (0.3x+0.2) + (0.4x+0.7) @ (06x+05)+ (0.2x—0.3)
=0.3x+02+0.4x+0.7 =0.6x+05+0.2x—0.3
=0.3x+04x+02+0.7 =0.6x+02x+05-0.3
=0.7x+0.9 =0.8x+0.2

® (0.8x—0.6) + (0.4x+0.2) @ (0.7x+0.9) + (0.5x—0.2)
=0.8x— 0.6 +0.4x + 0.2 =0.7x+0.9+0.5x— 0.2
=0.8x+0.4x—0.6+0.2 =0.7x+05x+09—-0.2
=12x—04 =12x+0.7

® (0.3x+0.5) + (-0.2x—0.7) ® (0.6x—0.8) + (—0.2x+0.4)
=0.3x+05-0.2x—0.7 =0.6x—08-02x+04
=0.3x—02x+05-0.7 =06x—02x—08+04
=0.1x—0.2 =0.4x—-04

@ (—05x+0.1)+ (0.8x—0.7) (—0.6x—03)+(—-04x—-05)
= —05x+01+08x—0.7 = —06x—03-04x—05
= —05x+08x+0.1-0.7 = —06x—04x—03-05
=0.3x—0.6 =—-x—08
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